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D A=5x—1,B=2x+10 ¢ &, RORDfli% x ZHNTEZ R I,
3(2A—5B) +4(—A+5B)

@2 A=—3x+1,B=—2x+50 ¢ %, RORXDfHi%E x THVWTE LRI\,
2(A—3B)+(—3A+B)

@ A=b5x+1,B=—x+40t &, ROAXDE%Z x ZHTE LRI,
3(—2A+3B)—2(—A+2B)

@ A=—2b+1,B=—2b+50 ¢ &, XROKXDE%Z b EHNTEZ LRI\,
5(—3A+B)+4(5A+B)

B A=2x—3,B=—b5x+1nt &, XROKDE%Z x T TEZ LRI\,
3(—2A+5B)—2(A+4B)
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X DfE

A=5x—1,B=2x+10t &, RORXDfEi% x THVTEZL R I\,
3(2A—5B) +4(—A+5B)
—2A+5B
A=5x—1,B=2x+1%{CA LT
2(5x—1)+52x+1)

/5

=20x+3

20x+3

A==3x+1,B=—2x+50&L &, ROXDE%Z x ZHTEHEZ LRI\,
2(A—3B)+(—3A+B)
=—A—-5B
A=—3x+1,B=—2x+5%fCAL T
—(—=3x+1)—5(—2x+5)

=13x—26

13x—26

A=5x+1,B=—x+4D & &, ROXDE%Z x T TEHEZ LI,
3(—2A+3B)—2(—A+2B)
=—4A+5B
A=5x+1,B=—x+4%2{CA LT
—4(5x+1)+5(—x+4)

=—25x+16

—25x+16

A=—2b+1,B=—2b+50L %, XOKXDfl% b ZHTEHEZ R I\,
5(—3A+B)+4(5A+B)
=5A+9B
A=—2b+1,B=—2b+5%fLAL T
5(—2b+1)+9(—2b+5)

=—28b+50

—28b+50

A=2x—3,B=—5x+10¢t &, RORXDfEi%Z x ZHVTEZ R I\,
3(—2A+5B)—2(A+4B)
=—8A+7B
A=2x—3,B=—5x+1%2{CA LT
—8(2x—3)+7(—5x+1)

=—51x+31

—51x+31




